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CONSULTOR	
  LEGISLATIVO	
  
	
  

LÍNGUA	
  PORTUGUESA	
  
	
  

Leia	
  abaixo	
  um	
  trecho	
  do	
  livro	
  Vidas	
  Secas	
  e	
  
responda	
  às	
  questões	
  de	
  01	
  a	
  07:	
  

01	
  
02	
  
03	
  
04	
  
05	
  
06	
  
07	
  
08	
  
09	
  
10	
  
11	
  

Fabiano	
  tomou	
  a	
  cuia,	
  desceu	
  a	
   ladeira,	
  
encaminhou-­‐se	
   ao	
   rio	
   seco,	
   achou	
   no	
  
bebedouro	
   dos	
   animais	
   um	
   pouco	
   de	
   lama.	
  
Cavou	
  a	
  areia	
  com	
  as	
  unhas,	
  esperou	
  que	
  a	
  água	
  
marejasse	
   e,	
   debruçando-­‐se	
   no	
   chão,	
   bebeu	
  
muito.	
  Saciado,	
  caiu	
  de	
  papo	
  para	
  cima,	
  olhando	
  
as	
   estrelas,	
   que	
   vinham	
   nascendo.	
   Uma,	
   duas,	
  
três,	
   quatro,	
   havia	
   muitas	
   estrelas,	
   havia	
   mais	
  
de	
  cinco	
  estrelas	
  no	
  céu.	
  O	
  poente	
  cobria-­‐se	
  de	
  
cirros	
  –	
  e	
  uma	
  alegria	
  doida	
  enchia	
  o	
  coração	
  de	
  
Fabiano.	
  

	
  (RAMOS,	
  Graciliano.	
  Vidas	
  Secas.	
  São	
  Paulo:	
  Record,	
  2009)	
  
	
  

01.	
  	
   A	
  alegria	
  que	
  “enchia	
  o	
  coração	
  de	
  Fabiano”	
  se	
  deu	
  
porque:	
  
A)	
   Fabiano	
  encaminhou-­‐se	
  ao	
  rio	
  seco	
  
B)	
   Fabiano	
  saciou	
  sua	
  sede	
  
C)	
   Ele	
  podia	
  contar	
  as	
  estrelas	
  
D)	
   O	
  poente	
  cobria-­‐se	
  de	
  cirros	
  
E)	
   Havia	
  mais	
  de	
  cinco	
  estrelas	
  no	
  céu	
  

	
  
02.	
  	
   A	
   expressão	
   “caiu	
   de	
   papo	
   pra	
   cima”	
   significa	
   que	
  

Fabiano:	
  
A)	
   Deitou-­‐se	
  com	
  o	
  corpo	
  virado	
  para	
  o	
  céu.	
  
B)	
   Deslizou	
  na	
  ladeira.	
  
C)	
   Escorregou,	
  machucando	
  o	
  pescoço.	
  
D)	
   Sentou,	
  virando	
  a	
  cabeça	
  para	
  trás.	
  
E)	
   Resolveu	
  ficar	
  de	
  ponta-­‐cabeça.	
  

	
  
03.	
  Qual	
  palavra	
  dá	
  referência	
  temporal	
  no	
  texto?	
  

A)	
   “...	
  cirros.”	
  (linha	
  10)	
  
B)	
   “...	
  marejasse...”	
  (linha	
  05)	
  	
  
C)	
   “...	
  poente...”	
  (linha	
  09)	
  
D)	
   “...	
  olhando...”	
  (linha	
  06)	
  
E)	
   “...	
  enchia...”	
  (linha	
  10)	
  

	
  
04.	
  	
   No	
  primeiro	
  período	
  do	
  texto,	
  a	
  progressão	
  textual	
  

é	
  feita	
  por	
  meio	
  de:	
  
A)	
   assíndeto	
  	
  
B)	
   conectivo	
  coordenativo	
  
C)	
   pronome	
  relativo	
  
D)	
   conjunção	
  integrante	
  
E)	
   conjunção	
  adverbial	
  

05.	
   Em	
   “havia	
  muitas	
   estrelas”	
   (linha	
   08),	
   as	
   regras	
   de	
  
concordância	
   verbal	
   foram	
   respeitadas.	
   Assinale	
   o	
  
item	
  em	
  que	
  isso	
  não	
  acontece:	
  
A)	
   Deve	
  fazer	
  vários	
  anos	
  que	
  não	
  há	
  uma	
  seca	
  tão	
  

grande	
  
B)	
   Grande	
  parte	
   dos	
   sertanejos	
   conta	
   essa	
  mesma	
  

história	
  
C)	
   Um	
  por	
   cento	
  dos	
  nordestinos	
  não	
   se	
   identifica	
  

com	
  Fabiano	
  
D)	
   Quais	
  de	
  nós	
  conhecem	
  histórias	
  semelhantes?	
  
E)	
   Mantém-­‐se	
   sempre	
   os	
   sonhos,	
   apesar	
   das	
  

dificuldades	
  
	
  

06.	
  Na	
  palavra	
  “bebedouro”	
  (linha	
  03),	
  o	
  sufixo	
  indica:	
  
A)	
   ação	
  ou	
  resultado	
  da	
  ação	
  
B)	
   lugar	
  
C)	
   matéria	
  
D)	
   referência	
  
E)	
   aglomeração	
  

	
  

07.	
   A	
  palavra	
  “debruçando-­‐se”	
  se	
  escreve	
  corretamente	
  
com	
   Ç.	
   Assinale	
   a	
   palavra	
   que,	
   sendo	
   escrita	
   com	
  
essa	
  letra,	
  apresenta	
  um	
  erro	
  de	
  grafia:	
  
A)	
   sumiço	
  
B)	
   detenção	
  
C)	
   exceção	
  
D)	
   obseção	
  
E)	
   balaço	
  

	
  

Leia	
  atentamente	
  o	
  texto	
  a	
  seguir	
  e	
  responda	
  às	
  
questões	
  de	
  8	
  a	
  13:	
  

01	
  
02	
  
03	
  
04	
  
05	
  
06	
  
07	
  
08	
  
09	
  
10	
  
11	
  
12	
  
13	
  
14	
  
15	
  
16	
  
17	
  

“A	
  história	
  das	
  secas	
  na	
  região	
  Nordeste	
  é	
  uma	
  
prova	
  de	
  fogo	
  para	
  quem	
  lê	
  ou	
  escuta	
  os	
  relatos	
  
que	
   vêm	
   desde	
   o	
   século	
   XVI.	
   As	
   duras	
  
consequências	
  da	
  falta	
  de	
  água	
  acentuaram	
  um	
  
quadro	
  que	
  em	
  diversos	
  momentos	
  da	
  biografia	
  
do	
   semiárido	
   chega	
   a	
   ser	
   assustador:	
  migração	
  
desenfreada,	
  epidemias,	
  fome,	
  sede,	
  miséria.	
  Os	
  
relatos	
  de	
  pesquisadores	
  e	
  historiadores	
  datam	
  
da	
   época	
  da	
   colonização	
  portuguesa	
  na	
   região.	
  
Até	
   a	
   primeira	
   metade	
   do	
   século	
   XVII,	
   quem	
  
ocupava	
  as	
  áreas	
  mais	
  interioranas	
  do	
  semiárido	
  
brasileiro	
   era	
   a	
   população	
   indígena.	
   Uma	
   das	
  
primeiras	
   secas	
   que	
   se	
   tem	
   notícia	
   aconteceu	
  
entre	
   1580	
   e	
   1583.	
   As	
   capitanias	
   tiveram	
   seus	
  
engenhos	
   prejudicados,	
   as	
   fazendas	
   sofreram	
  
com	
   a	
   falta	
   de	
   água	
   e	
   cerca	
   de	
   5	
   mil	
   índios	
  
desceram	
  o	
  sertão	
  em	
  busca	
  de	
  comida.	
  (...)”	
  

	
  (BARRETO,	
  Pedro	
  Henrique.	
  Seca,	
  fenômeno	
  secular	
  na	
  vida	
  dos	
  
nordestinos.10/03/2009.Site:http://www.ipea.gov.br/desafio	
  
/index.php?option=com_content&view=article&id=1214:reporta
gens-­‐materias&Itemid=39)	
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08.	
  	
   De	
   acordo	
   com	
   a	
   leitura	
   do	
   texto	
   acima,	
   assinale	
  

qual	
   item	
   NÃO	
   demonstra	
   uma	
   consequência	
   da	
  
falta	
  de	
  água:	
  

	
   A)	
  migração	
  desenfreada	
  
	
   B)	
  fome	
  
	
   C)	
  saúde	
  
	
   D)	
  miséria	
  
	
   E)	
  prejuízo	
  nos	
  engenhos	
  
	
  
09.	
   A	
   primeira	
   migração	
   da	
   seca,	
   segundo	
   o	
   texto,	
  

aconteceu	
  com	
  o	
  povoado	
  de	
  cultura:	
  
	
   A)	
  sulista	
  
	
   B)	
  italiana	
  
	
   C)	
  indígena	
  
	
   D)	
  portuguesa	
  
	
   E)	
  africana	
  
	
  
10.	
  	
   Qual	
  termo	
  NÃO	
  faz	
  referência	
  espacial?	
  
	
   A)	
  semiárido	
  (linha	
  06)	
  
	
   B)	
  capitanias	
  (linha	
  14)	
  
	
   C)	
  sertão	
  (linha	
  17)	
  
	
   D)	
  região	
  Nordeste	
  (linha	
  01)	
  
	
   E)	
  população	
  (linha	
  12)	
  
	
  
11.	
  	
   Em	
   “Uma	
   das	
   primeiras	
   secas	
   que	
   se	
   tem	
   notícia	
  

(...)”,	
  segundo	
  a	
  norma	
  culta,	
  ocorre	
  um	
  erro	
  de:	
  
	
   A)	
  ortoépia	
  
	
   B)	
  colocação	
  
	
   C)	
  acentuação	
  
	
   D)	
  grafia	
  
	
   E)	
  regência	
  
	
  
	
  

12.	
   De	
  acordo	
  com	
  as	
  regras	
  do	
  português	
  padrão,	
  em	
  
“As	
   duras	
   consequências	
   da	
   falta	
   de	
   água	
  
acentuaram	
  um	
  quadro	
  que	
  em	
  diversos	
  momentos	
  
da	
   biografia	
   do	
   seminário	
   chega	
   a	
   ser	
   assustador:	
  
migração	
   desenfreada,	
   epidemias,	
   fome,	
   sede,	
  
miséria.”,	
  há	
  um	
  erro	
  de:	
  

	
   A)	
  regência	
  
	
   B)	
  pontuação	
  
	
   C)	
  acentuação	
  
	
   D)	
  ortoépia	
  
	
   E)	
  colocação	
  
	
  
	
  

13.	
  	
   O	
  texto	
  acima	
  é	
  classificado	
  como:	
  
	
   A)	
  artigo	
  
	
   B)	
  notícia	
  
	
   C)	
  instrucional	
  

	
   D)	
  aviso	
  
	
   E)	
  declaração	
  

	
  
A	
  música	
  SOBRADINHO,	
  composição	
  de	
  Sá	
  e	
  
Guarabira,	
  será	
  base	
  para	
  a	
  resolução	
  das	
  	
  

questões	
  14	
  e	
  15	
  
	
  

Sobradinho	
  (Sá	
  e	
  Guarabira)	
  
	
  
O	
  homem	
  chega,	
  já	
  desfaz	
  a	
  natureza	
  
Tira	
  gente,	
  põe	
  represa,	
  diz	
  que	
  tudo	
  vai	
  mudar	
  
O	
  São	
  Francisco	
  lá	
  pra	
  cima	
  da	
  Bahia	
  
Diz	
  que	
  dia	
  menos	
  dia	
  vai	
  subir	
  bem	
  devagar	
  
E	
  passo	
  a	
  passo	
  vai	
  cumprindo	
  a	
  profecia	
  do	
  beato	
  que	
  
dizia	
  que	
  o	
  sertão	
  ia	
  alagar.	
  
	
  
O	
  sertão	
  vai	
  virar	
  mar,	
  dá	
  no	
  coração	
  
O	
  medo	
  que	
  algum	
  dia	
  o	
  mar	
  também	
  vire	
  sertão	
  
	
  
Adeus	
  Remanso,	
  Casa	
  Nova,	
  Sento-­‐Sé	
  
Adeus	
  Pilão	
  Arcado	
  vem	
  o	
  rio	
  te	
  engolir	
  
Debaixo	
  d'água	
  lá	
  se	
  vai	
  a	
  vida	
  inteira	
  
Por	
  cima	
  da	
  cachoeira	
  o	
  gaiola	
  vai,	
  vai	
  subir	
  
Vai	
  ter	
  barragem	
  no	
  salto	
  do	
  Sobradinho	
  
E	
  o	
  povo	
  vai-­‐se	
  embora	
  com	
  medo	
  de	
  se	
  afogar.	
  
	
  
14.	
   De	
  acordo	
  com	
  a	
  letra	
  acima,	
  é	
  falso	
  dizer	
  que:	
  

A)	
  Grandes	
  obras	
  destinadas	
  à	
  produção	
  de	
  energia	
  
causam	
  fortes	
  impactos	
  ambientais.	
  

B)	
  	
  Houve	
   inundação	
   nas	
   cidades	
   mencionadas	
   na	
  
música.	
  

C)	
   A	
   vida	
   e	
   as	
   profecias	
   do	
   beato	
   Antônio	
  
Conselheiro	
   são	
   contadas	
   em	
   Os	
   Sertões;	
   há,	
  
portanto	
   nesse	
   ponto,	
   intertextualidade	
   com	
  
Sobradinho.	
  

D)	
   Em	
   “Debaixo	
   d’água	
   lá	
   se	
   vai	
   a	
   vida	
   inteira”,,	
  
tem-­‐se	
  uma	
  metonímia.	
  

E)	
   Construção	
   de	
   represas,	
   como	
   mostra	
   o	
   texto,	
  
não	
  gera	
  impactos	
  sociais.	
  

	
  
15.	
   Assim	
  como	
  em	
  “passo	
  a	
  passo”	
  (verso	
  5),	
  não	
  deve	
  

haver	
  acento	
  indicativo	
  de	
  crase	
  em:	
  
	
   A)	
  Tudo	
  ocorreu	
  as	
  presas	
  

B)	
   Não	
   me	
   refiro	
   a	
   esta	
   música,	
   mas	
   a	
   que	
   você	
  
cantou	
  ontem	
  

C)	
   Ninguém	
  voltou	
  a	
  terra	
  natal	
  
D)	
  Os	
  moradores	
  observavam	
  tudo	
  a	
  distância	
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E)	
   A	
   medida	
   que	
   o	
   progresso	
   avança,	
   a	
   natureza	
  
morre	
  

	
  
MATEMÁTICA	
  

	
  
16.	
   O	
   soma	
   das	
   medidas	
   dos	
   lados	
   de	
   um	
   terreno	
  

triangular	
   é	
   96	
  metros.	
   Sabendo	
   que	
   os	
   lados	
   são	
  
proporcionais	
   aos	
   números	
   3,	
   4	
   e	
   5,	
   calcule	
   a	
  
medida	
  do	
  maior	
  lado.	
  
A)	
   24	
  m	
  
B)	
   32	
  m	
  
C)	
   36	
  m	
  
D)	
   40	
  m	
  
E)	
   44	
  m	
  

	
  
17.	
   A	
   soma	
   de	
   três	
   números	
   consecutivos	
   é	
   57.	
   Esses	
  

números	
  são:	
  
A)	
   18,	
  19	
  e	
  20	
  
B)	
   17,	
  19	
  e	
  21	
  
C)	
   16,	
  18	
  e	
  23	
  
D)	
   15,	
  19	
  e	
  23	
  
E)	
   14,	
  19	
  e	
  24	
  

	
  
18.	
   A	
  fração	
  equivalente	
  a	
  7/15,	
  cuja	
  soma	
  dos	
  termos	
  

é	
  198,	
  é	
  igual	
  a:	
  
A)	
   56/142	
  
B)	
   46/152	
  
C)	
   63/135	
  
D)	
   70/128	
  
E)	
   76/122	
  

	
  
19.	
   A	
   caixa	
   d’água	
   de	
   uma	
   casa	
   tem	
   2	
  m3	
   de	
   volume.	
  

Quantos	
  litros	
  de	
  água	
  pode	
  conter	
  essa	
  caixa?	
  
A)	
   100	
  l	
  
B)	
   500	
  l	
  
C)	
   1.000	
  l	
  
D)	
   1.500	
  l	
  
E)	
   2.000	
  l	
  

	
  
20.	
   O	
  valor	
  de	
  (32)0,8	
  +	
  (9)3/2	
  é:	
  

A)	
   25	
  
B)	
   17	
  
C)	
   43	
  
D)	
   12	
  
E)	
   57	
  

	
  
21.	
   Uma	
  pessoa	
  tomou	
  um	
  empréstimo	
  de	
  R$	
  2.200,00	
  

no	
  sistema	
  de	
  capitalização	
  simples,	
  à	
  quitação	
  em	
  
parcela	
   única,	
   após	
   4	
   meses,	
  no	
  valor	
  de	
   R$	
  
2.640,00.	
   A	
   taxa	
   de	
   juros	
   da	
   operação	
   neste	
  
empréstimo	
  é:	
  

A)	
   5%	
  ao	
  mês	
  
B)	
   12%	
  ao	
  ano	
  
C)	
   15%	
  ao	
  mês	
  
D)	
   25%	
  ao	
  período	
  
E)	
   60%	
  ao	
  semestre	
  

	
  
22.	
   Paguei	
   R$	
   8,00	
   por	
   1	
   ½	
   kg	
   de	
   manteiga.	
   Quanto	
  

pagaria	
  por	
  600g?	
  
A)	
   R$	
  5,00	
  
B)	
   R$	
  3,20	
  
C)	
   R$	
  4,85	
  
D)	
   R$	
  5,25	
  
E)	
   R$	
  5,85	
  

	
  
23.	
   Em	
   um	
   concurso	
   público	
   se	
   observou	
   que	
   havia	
  

15.000	
   candidatos	
   do	
   sexo	
  masculino	
   e	
   10.000	
   do	
  
sexo	
  feminino.	
  Sabe-­‐se	
  que	
  60%	
  dos	
  homens	
  e	
  55%	
  
das	
   mulheres	
   foram	
   aprovados.	
   Do	
   total	
   de	
  
candidatos,	
  quantos	
  por	
  cento	
  foram	
  reprovados?	
  
A)	
   42%	
  
B)	
   35%	
  
C)	
   40%	
  
D)	
   45%	
  
E)	
   37,5%	
  

	
  
24.	
   Se	
  uma	
  vela	
  de	
  396	
  mm	
  de	
  altura	
  diminui	
  1,8	
  mm	
  

por	
  minuto,	
  quanto	
  tempo	
  levará	
  para	
  se	
  consumir?	
  
A)	
   20	
  min	
  
B)	
   30	
  min	
  
C)	
   2h	
  36	
  min	
  
D)	
   3h	
  20	
  min	
  
E)	
   3h	
  40	
  min	
  

	
  
25.	
   A	
  que	
  taxa,uma	
  duplicata	
  no	
  valor	
  de	
  R$	
  30.000,00	
  

sofreu	
  um	
  desconto	
  de	
  R$	
  6.000,00,	
  por	
  haver	
  sido	
  
paga	
  5	
  meses	
  antes	
  do	
  prazo	
  estipulado?	
  
A)	
   24%	
  ao	
  ano	
  
B)	
   36%	
  ao	
  ano	
  
C)	
   48%	
  ao	
  ano	
  
D)	
   60%	
  ao	
  ano	
  
E)	
   72%	
  ao	
  ano	
  

	
  
26.	
   Analise	
  as	
  assertivas:	
  

I	
  	
  	
  –	
  a	
  fração	
  2/5	
  é	
  maior	
  que	
  3/7	
  
II	
  	
  	
  –	
  82/3	
  =	
  4	
  
III	
  	
  –	
  7/3	
  =	
  2	
  1/3	
  

Assinale	
  V	
  (verdadeiro)	
  e	
  F	
  (falso),	
  marque	
  a	
  opção	
  
correta:	
  
A)	
   F,	
  F,	
  V	
  
B)	
   V,	
  F,	
  F	
  
C)	
   F,	
  F,	
  F	
  



5	
  
	
  

D)	
   V,	
  V,	
  V	
  
E)	
   F,	
  V,	
  V	
  

	
  
27.	
   Numa	
   empresa,	
   dez	
   operários	
   têm	
   salário	
   de	
   R$	
  

4.000,00	
  mensais;	
  vinte	
  operários	
  têm	
  salário	
  de	
  R$	
  
3	
   000,00	
   mensais	
   e	
   trinta	
   têm	
   salário	
   de	
   R$	
  
2.000,00	
   mensais.	
   Qual	
   é	
   o	
   salário	
   médio	
   desses	
  
operários:	
  
A)	
   R$	
  2.833,33	
  
B)	
   R$	
  2.666,67	
  
C)	
   R$	
  3.324,67	
  
D)	
   R$	
  2.542,67	
  
E)	
   R$	
  3.225,33	
  

	
  
28.	
   A	
   média	
   aritmética	
   das	
   idades	
   de	
   40	
   alunos	
   da	
  

turma	
  A	
  é	
  20	
  anos	
  e	
  a	
  média	
  aritmética	
  das	
   idades	
  
de	
   uma	
   outra	
   turma	
   B	
   com	
   20	
   alunos	
   é	
   18	
   anos.	
  
Então	
  a	
  média	
  aritmética	
  das	
  idades	
  dos	
  alunos	
  das	
  
duas	
  turmas	
  é:	
  
A)	
   19,33	
  
B)	
   19	
  
C)	
   18	
  
D)	
   19,20	
  
E)	
   18,33	
  

	
  
29.	
   Em	
  um	
  dia	
  de	
  trabalho	
  no	
  escritório,	
  em	
  relação	
  às	
  

funcionárias	
   Ana,	
   Cláudia,	
   Maria,	
   Paula	
   e	
   Márcia,	
  
sabe-­‐se	
   que:	
   Ana	
   chegou	
   antes	
   de	
   Paula	
   e	
   Maria,	
  
Paula	
   chegou	
   antes	
   de	
   Márcia.	
   Cláudia	
   chegou	
  
antes	
   de	
   Ana.	
   Márcia	
   não	
   foi	
   a	
   última	
   a	
   chegar.	
  
Nesse	
   dia,	
   a	
   terceira	
   a	
   chegar	
   no	
   escritório	
   para	
   o	
  
trabalho	
  foi:	
  
A)	
   Ana	
  
B)	
   Cláudia	
  
C)	
   Márcia	
  
D)	
   Maria	
  
E)	
   Paula	
  

	
  
30.	
   A	
   soma	
   de	
   um	
   número	
   com	
   o	
   seu	
   triplo	
   e	
   sua	
  

metade	
  é	
  igual	
  a	
  45.	
  Qual	
  é	
  esse	
  número?	
  
A)	
   5	
  
B)	
   10	
  
C)	
   15	
  
D)	
   20	
  
E)	
   30	
  

	
  
ATUALIDADES	
  E	
  CONVIVÊNCIA	
  SOCIETÁRIA	
  

	
  
31.	
  	
   O	
  Marco	
  Civil	
  da	
  Internet	
  define	
  regras	
  mais	
  claras	
  a	
  

respeito	
   dos	
   direitos,	
   deveres	
   e	
   princípios	
   para	
   o	
  
uso	
  da	
  rede	
  no	
  Brasil.	
  	
  Instituída	
  no	
  Ano	
  de	
  2014,	
  o	
  

Marco	
  é	
  um	
  avanço	
  na	
  legislação	
  que	
  trata	
  sobre	
  a	
  
rede	
   mundial	
   de	
   computadores.	
   Qual	
   dos	
   itens	
  
representam	
  um	
  avanço	
  do	
  Marco	
  Civil	
  da	
  Internet?	
  	
  	
  
A)	
   Os	
  pacotes	
  de	
  dados	
  podem	
  ser	
  diferenciados,	
  e	
  

cobrando	
   mais,	
   por	
   exemplo,	
   de	
   quem	
   acessa	
  
vídeos	
  

B)	
   As	
   comunicações	
   passam	
   a	
   ser	
   não	
   sigilosas,	
  
podendo	
   ser	
   consultadas	
   a	
   qualquer	
   tempo	
   e	
  
por	
  qualquer	
  pessoa	
  

C)	
   Os	
   provedores	
   podem	
   retirar	
   do	
   ar	
   vídeos,	
  
textos	
  e	
  imagens	
  a	
  qualquer	
  tempo	
  sem	
  precisar	
  
se	
  limitar	
  à	
  Justiça	
  

D)	
   A	
   qualidade	
   e	
   velocidade	
   do	
   acesso	
   pode	
   ser	
  
alterada	
   de	
   acordo	
   com	
   a	
   renda	
   ou	
   localização	
  
do	
  usuário	
  da	
  internet	
  

E)	
   A	
  inviolabilidade	
  da	
  intimidade	
  e	
  da	
  vida	
  privada	
  
fica	
   assegurada,	
   podendo	
   o	
   usuário	
   ser	
  
indenizado	
  na	
  sua	
  violação	
  

	
  
32.	
  	
   As	
   manifestações	
   ocorridas	
   em	
   junho	
   de	
   2013	
  

tiveram	
  como	
  estopim	
  a	
  reivindicação:	
  
A)	
   Para	
  o	
  impeachment	
  da	
  Presidente	
  da	
  República	
  
B)	
   Por	
   melhorias	
   no	
   acesso	
   a	
   internet	
   e	
   a	
   novas	
  

tecnologias	
  
C)	
   Por	
   melhorias	
   no	
   transporte	
   público,	
   associada	
  

ao	
  não	
  aumento	
  no	
  valor	
  das	
  passagens.	
  	
  
D)	
   Por	
   diminuição	
   na	
   conta	
   de	
   energia	
   elétrica,	
  

considerada	
  abusiva	
  
E)	
   Da	
  continuidade	
  de	
  isenção	
  de	
  IPI	
  na	
  compra	
  de	
  

carros	
  
	
  
33.	
   A	
   Proposta	
   de	
   Emenda	
   Constitucional	
   nº	
   66,	
   a	
  

chamada	
  PEC	
  das	
  Domésticas,	
   equipara	
  os	
  direitos	
  
trabalhistas	
   dos	
   empregados	
   domésticos	
   aos	
   dos	
  
trabalhadores	
   formais.	
   A	
   PEC	
   traz,	
   como	
   avanço	
   a	
  
empregados	
   domésticos,	
   a	
   garantia	
   de	
   qual	
   item	
  
abaixo?	
  
A)	
   Adicional	
  de	
  insalubridade	
  
B)	
   Jornada	
  de	
  trabalho	
  de	
  20	
  horas	
  semanais	
  
C)	
   Férias	
  facultativas	
  
D)	
   Direito	
  a	
  FGTS	
  
E)	
   Descanso	
   não	
   remunerado,	
   de	
   preferência	
   às	
  

segundas-­‐feiras	
  
	
  
34.	
   Em	
   economia,	
   BRICS	
   é	
   um	
   acrônimo	
   que	
   se	
   refere	
  

aos	
   países	
   membros	
   fundadores	
   (o	
   grupo	
   BRIC:	
  
Brasil,	
   Rússia,	
   Índia	
   e	
  China)	
   e	
   à	
  África	
  do	
   Sul,	
   que	
  
juntos	
   formam	
   um	
   grupo	
   político	
   de	
   cooperação.	
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Em	
   15	
   e	
   16	
   de	
   Julho	
   de	
   2014,	
   foi	
   realizada	
   a	
   VI	
  
Cúpula	
   dos	
   BRICS	
   em	
   Fortaleza:	
   Um	
   dos	
   pontos	
  
mais	
  importantes	
  acertados	
  no	
  encontro	
  foi	
  
A)	
   A	
  criação	
  de	
  um	
  novo	
  bloco	
  de	
  livre	
  comércio	
  
B)	
   Um	
  novo	
  Banco	
  de	
  Desenvolvimento	
  
C)	
   A	
   definição	
   do	
   atendimento	
   às	
   metas	
   do	
  

protocolo	
  de	
  Kyoto	
  para	
  as	
  causas	
  ambientais	
  
D)	
   O	
  acordo	
  que	
  encerra	
  a	
  Rodada	
  Doha	
  no	
  âmbito	
  

da	
  Organização	
  Mundial	
  do	
  Comércio	
  
E)	
   A	
   realização	
   de	
   encontros	
   mensais	
   com	
   os	
  

Presidentes	
  do	
  países	
  que	
  formam	
  o	
  BRICS	
  
	
  
35.	
  	
   O	
   município	
   de	
   Acaraú	
   tem,	
   na	
   sua	
   evolução	
  

histórica	
   e	
   econômica,	
   a	
   influência	
   de	
   dois	
   grupos	
  
principais,	
  quais	
  são	
  eles?	
  
A)	
   Os	
  mineiros	
  e	
  escravos	
  que	
  vinham	
  na	
  busca	
  de	
  

novos	
  metais	
  preciosos	
  
B)	
   Os	
   pescadores	
   se	
   estabelecendo	
   no	
   litoral,	
   na	
  

busca	
  da	
  riqueza	
  do	
  mar,	
  e	
  extrativistas	
  naturais,	
  
na	
  busca	
  e	
  do	
  Pau-­‐brasil	
  abundante	
  na	
  região	
  

C)	
   Os	
   criadores	
   de	
   gado,	
   vindo	
   dos	
   sertões	
   de	
  
dentro,	
   e	
   refugiados	
   europeus,	
   na	
   busca	
   de	
  
formar	
  uma	
  vila	
  de	
  sustentação	
  própria	
  

D)	
   Agricultores	
  de	
  algodão	
  e	
  escravos	
  para	
  servir	
  de	
  
mão	
  de	
  obra	
  para	
  esses	
  agricultores	
  

E)	
   Os	
   pescadores	
   se	
   estabelecendo	
   no	
   litoral,	
   em	
  
busca	
   das	
   riquezas	
   do	
   mar,	
   e	
   os	
   criadores	
   de	
  
gado,	
  vindo	
  dos	
  sertões	
  de	
  dentro	
  

	
  
36.	
  	
   A	
   pesca	
   sofre	
   impactos	
   gerados	
   pela	
   poluição	
   dos	
  

mares,	
   rios	
   e	
   lagoas,	
   diminuindo	
   assim	
   sua	
  
produção	
   e	
   aumentando	
   as	
   dificuldades	
   de	
  
sobrevivência	
   associadas	
   ao	
   setor.	
   Qual	
   item	
  
podemos	
   apontar	
   como	
   uma	
   causa	
   da	
   diminuição	
  
da	
  produção	
  pesqueira?	
  	
  	
  
A)	
   A	
  proliferação	
  da	
  pesca	
  predatória	
  
B)	
   Adaptação	
  de	
   instrumentos	
   associados	
  à	
  pesca,	
  

tornando-­‐os	
  menos	
  perigosos	
  
C)	
   Investimentos	
   em	
   saneamento	
   básico	
   e	
   coleta	
  

de	
  lixo	
  
D)	
   Poluição	
  do	
  ar	
  causando	
  inversão	
  térmica	
  
E)	
   Instituição	
  de	
  época	
  de	
  defesos	
  de	
  lagostas	
  

	
  
37.	
  "A	
   Companhia	
   de	
   Gestão	
   e	
   Recursos	
   Hídricos	
  

(COGERH),	
  por	
  meio	
  da	
  Política	
  Estadual	
  de	
  Recursos	
  
Hídricos,	
   elabora	
   os	
   Planos	
   de	
   Bacia	
   no	
   Ceará.	
   Os	
  
referidos	
   Planos	
   são	
   instrumentos	
   de	
   gestão	
   que	
  
permitem	
   à	
   sociedade	
   conhecer	
   a	
   situação	
   da	
   água	
  

na	
  Bacia	
  Hidrográfica	
  e	
  os	
  problemas	
  existentes,	
  para	
  
que	
   possam	
   ser	
   definidas	
   ações	
   estratégicas	
   para	
   a	
  
sustentabilidade	
   hídrica	
   a	
   curto,	
   médio	
   e	
   longo	
  
prazos."	
  
O	
  Rio	
  Acaraú	
  nasce	
  na	
  Serra	
  das	
  Matas,	
  município	
  de	
  
Monsenhor	
   Tabosa,	
   e	
   tem	
   sua	
   foz	
   no	
  Município	
   de	
  
Acaraú.	
   Sua	
   bacia	
   hidrográfica	
   é	
   composta	
   por	
   28	
  
municípios,	
   portanto	
   o	
   Rio	
   corre	
   por	
   duas	
  
importantes	
  regiões	
  do	
  Estado.	
  	
  Quais	
  são	
  elas?	
  
A)	
   Cariri	
  e	
  Centro-­‐Sul	
  
B)	
   Zona	
  Norte	
  e	
  Sertão	
  Central	
  
C)	
   Inhamuns	
  e	
  Zona	
  Norte	
  
D)	
   Centro-­‐Sul	
  e	
  Inhamuns	
  
E)	
   Zona	
  Metropolitana	
  e	
  Maciço	
  de	
  Baturité	
  

	
  
38.	
  	
   O	
   servidor	
   público	
   não	
   poderá	
   jamais	
   desprezar	
   o	
  

elemento	
   ético	
   de	
   sua	
   conduta.	
   	
   Assim,	
   não	
   terá	
  
que	
  decidir	
  somente	
  entre	
  o	
  legal	
  e	
  o	
  ilegal,	
  o	
  justo	
  
e	
   o	
   injusto,	
   o	
   conveniente	
   e	
   o	
   inconveniente,	
   o	
  
oportuno	
  e	
  o	
  inoportuno,	
  mas	
  principalmente	
  entre	
  
o	
   honesto	
   e	
   o	
   desonesto,	
   consoante	
   as	
   regras	
  
contidas	
   no	
   art.	
   37,	
   caput,	
   e	
   §	
   4°,	
   da	
   Constituição	
  
Federal.	
   A	
   função	
   pública,	
   no	
   que	
   concerne	
   à	
   vida	
  
particular,	
  deve	
  ser	
  tida	
  como:	
  
A)	
   A	
  função	
  pública	
  não	
  se	
  integra	
  à	
  vida	
  particular	
  

de	
   nenhuma	
   forma.	
   Portanto,	
   o	
   que	
   o	
   servidor	
  
faz	
   na	
   sua	
   vida	
   particular	
   é	
   de	
   foro	
   íntimo	
   do	
  
servidor	
  

B)	
   os	
   fatos	
   e	
   atos	
   do	
   servidor	
   público,	
   verificados	
  
na	
   conduta	
   do	
   dia-­‐a-­‐dia,	
   em	
   sua	
   vida	
   privada,	
  
não	
  acrescem	
  ou	
  diminuem	
  o	
  seu	
  bom	
  conceito	
  
na	
  vida	
  funcional	
  

C)	
   A	
   conduta	
   profissional	
   é	
   sempre	
   pautada	
   pela	
  
conduta	
  privada	
  do	
  servidor.	
  Portanto,	
   sua	
  vida	
  
pública	
  não	
  se	
  confunde	
  com	
  sua	
  vida	
  privada	
  

D)	
   A	
   função	
   pública	
   deve	
   ser	
   tida	
   como	
   exercício	
  
profissional	
   e,	
   portanto,	
   se	
   integra	
   à	
   vida	
  
particular	
  de	
  cada	
  servidor	
  público	
  

E)	
   Função	
   pública	
   e	
   vida	
   privada	
   estão	
  
intimamente	
   ligadas,	
   no	
   entanto	
   o	
   servidor	
  
público	
   não	
   pode	
   ser	
   culpado	
   por	
   conduta	
  
imprópria	
   na	
   sua	
   vida	
   particular	
   que	
   afete	
   a	
  
função	
  pública	
  

	
  
39.	
   De	
   acordo	
   com	
   Chiavenato,	
   nas	
   relações	
   humanas	
  

no	
  trabalho,	
  o	
  profissional	
  pode	
  cometer	
  erros	
  leves	
  
e	
  graves.	
  Qual	
  item	
  abaixo	
  apresenta	
  somente	
  erros	
  
graves?	
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A)	
   Atrasos,	
   agressão	
   verbal,	
   faltas	
   esporádicas	
   ao	
  
trabalho	
  

B)	
   Agressão	
   física,	
   desonestidade,	
   faltas	
   contínuas	
  
ao	
  trabalho	
  

C)	
   Violação	
   do	
   código	
   vestuário,	
   agressão	
   física,	
  
falta	
  de	
  atenção	
  

D)	
   Fumar	
   em	
   locais	
   proibidos,	
   atrasos,	
   agressão	
  
verbal	
  

E)	
   Alcoolismo	
   exagerado,	
   dormir	
   no	
   trabalho,	
  
desatenção	
  

	
  
40.	
   No	
  Brasil,	
  na	
  última	
  década,	
  houve	
  a	
  descoberta	
  de	
  

grandes	
  áreas	
  de	
  poços	
  de	
  petróleo,	
  representando	
  
assim	
   um	
   salto	
   na	
   expectativa	
   de	
   produção	
   desse	
  
bem	
   para	
   os	
   próximos	
   anos.	
   Qual	
   item	
   abaixo	
  
representa	
  a	
  região	
  dos	
  poços	
  descobertos?	
  	
  
A)	
   Camada	
  do	
  Pré-­‐Sal	
  
B)	
   Camada	
  Paleozóica	
  
C)	
   camada	
  do	
  Pós-­‐sal.	
  
D)	
   Camada	
  Litorânea	
  
E)	
   Camada	
  Costeira	
  

	
  
CONHECIMENTOS	
  ESPECÍFICOS	
  

	
  

41.	
   De	
   acordo	
   com	
   a	
   Constituição	
   Federal	
   :	
   "A	
   lei	
   não	
  
prejudicará	
   o	
   direito	
   adquirido,	
   o	
   ato	
   jurídico	
  
perfeito	
   e	
   a	
   coisa	
   julgada"	
   (art.	
   5,	
   XXXVI).	
   Que	
  	
  
garantia	
  esse	
  dispositivo	
  consagra?	
  
A)	
   a	
  irretroatividade	
  da	
  lei	
  
B)	
   a	
  expectativa	
  de	
  direito	
  
C)	
   o	
  princípio	
  do	
  juízo	
  natural	
  	
  
D)	
   o	
  princípio	
  da	
  vedação	
  do	
  retrocesso	
  
E)	
   o	
  princípio	
  da	
  razoabilidade	
  

	
  
42.	
   Entre	
  os	
  chamados	
  remédios	
  constitucionais,	
  o	
  que	
  

assegura	
  o	
  direito	
  de	
  retificação	
  de	
  dados	
  pessoais,	
  
quando	
  não	
  se	
  prefira	
  fazê-­‐lo	
  por	
  processo	
  sigiloso,	
  
judicial	
  ou	
  administrativo,	
  é:	
  
A)	
   habeas	
  corpus	
  
B)	
   mandado	
  de	
  injunção	
  
C)	
   habeas	
  data	
  
D)	
   ação	
  civil	
  pública	
  
E)	
   mandado	
  de	
  segurança	
  

	
  
	
  
43.	
   Analise	
  as	
  assertivas	
  abaixo:	
  

I	
  –	
  	
   Ocupantes	
  de	
  cargo	
  efetivo	
  são	
  regidos	
  por	
  leis	
  
específicas,	
  denominadas	
  estatutos,	
  e	
  por	
  isso,	
  
são	
  denominados	
  de	
  estatutários.	
  

II	
  –	
  	
   São	
  aqueles	
  regidos	
  pela	
  Consolidação	
  das	
  Leis	
  
Trabalhistas	
   (CLT)	
   e,	
   assim,	
   denominados	
   de	
  
celetistas.	
  

III	
   –	
   São	
   submetidos	
   à	
   legislação	
   específica	
   e	
   são	
  
contratados	
   para	
   atender	
   à	
   necessidade	
  
excepcional	
  de	
  interesse	
  público.	
  

As	
   assertivas	
   acima	
   indicam,	
   respectivamente,	
   os	
  
seguintes	
  tipos	
  de	
  agentes	
  administrativos:	
  
A)	
   servidor	
   público,	
   comissionado,	
   servidor	
  

temporário	
  
B)	
   servidor	
   temporário,	
   servidor	
   público,	
  

comissionado	
  
C)	
   servidor	
   público,	
   empregado	
   público,	
   servidor	
  

temporário.	
  
D)	
   agente	
   honorífico,	
   empregado	
   público,	
  

comissionado	
  
E)	
   servidor	
  temporário,	
  empregado	
  público,	
  agente	
  

político	
  
	
  
44.	
   Com	
   relação	
   ao	
   processo	
   legislativo,	
   é	
   correto	
  

afirmar:	
  
A)	
   A	
  iniciativa	
  privativa	
  ou	
  reservada	
  para	
  deflagrar	
  

procedimento	
   destinado	
   à	
   formação	
   de	
  
determinada	
   lei	
   ordinária	
   pode	
   ser	
   objeto	
   de	
  
delegação.	
  	
  

B)	
   Compete	
   ao	
   Superior	
   Tribunal	
   de	
   Justiça	
   a	
  
iniciativa	
   de	
   proposição	
   de	
   lei	
   complementar	
  
que	
  disponha	
  sobre	
  o	
  Estatuto	
  da	
  Magistratura.	
  	
  

C)	
   A	
   iniciativa	
   popular	
   de	
   lei	
   pode	
   ser	
   exercida	
  
tanto	
   no	
   que	
   tange	
   às	
   leis	
   complementares	
  
como	
  às	
  leis	
  ordinárias.	
  

D)	
   A	
   Constituição	
   Federal	
   	
   veda,	
   em	
   caráter	
  
absoluto,	
   que	
  matéria	
   constante	
   de	
   projeto	
   de	
  
lei	
   rejeitado	
   seja	
   objeto	
   de	
   novo	
   projeto	
   na	
  
mesma	
  sessão	
  legislativa.	
  

E)	
   Se	
   o	
   chefe	
   do	
   poder	
   executivo	
   apresentar	
  
projeto	
   de	
   lei	
   ordinária	
   que	
   disponha	
   sobre	
   a	
  
remuneração	
   dos	
   servidores	
   públicos,	
   compete	
  
aos	
  parlamentares	
  analisar	
  o	
  projeto	
  e	
  emendá-­‐
lo	
   com	
   modificação	
   nas	
   remunerações	
  
propostas.	
  

	
  
45.	
   Analise	
  as	
  afirmativas:	
  

I	
   –	
   Leis	
   complementares	
   são	
   hierarquicamente	
  
superiores	
  às	
  ordinárias	
  

II	
   –	
   Na	
   atividade	
   particular	
   tudo	
   o	
   que	
   não	
   está	
  
proibido	
   é	
   permitido;	
   na	
   Administração	
  
Pública	
   tudo	
   o	
   que	
   não	
   está	
   permitido	
   é	
  
proibido.	
   O	
   administrador	
   está	
   rigidamente	
  
preso	
   à	
   lei	
   e	
   sua	
   atuação	
   deve	
   ser	
  
confrontada	
  com	
  a	
  lei.	
  

III	
   –	
   O	
   nepotismo	
   é	
   uma	
   das	
   formas	
   de	
   ofensa	
   ao	
  
princípio	
  da	
  impessoalidade	
  

	
   Podemos	
  afirmar	
  que	
  são	
  verdadeiras:	
  
A)	
   todas	
  as	
  afirmativas	
  
B)	
   somente	
  a	
  afirmativa	
  I	
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C)	
   as	
  afirmativas	
  I	
  e	
  II	
  
D)	
   as	
  afirmativas	
  II	
  e	
  III	
  
E)	
   as	
  afirmativas	
  I	
  e	
  III	
  

	
  
46.	
   O	
   art.	
   37	
   da	
   Constituição	
   da	
   República	
   impõe	
   à	
  

Administração	
   Pública	
   –	
   	
   direta	
   e	
   indireta	
   –	
   	
   a	
  
obrigatoriedade	
  de	
  seguir	
  	
  vários	
  princípios	
  básicos,	
  
dentre	
  esses	
  princípios	
  	
  não	
  se	
  inclui	
  o	
  :	
  
A)	
   princípio	
  da	
  impessoalidade	
  
B)	
   princípio	
  da	
  eficiência	
  
C)	
   princípio	
  da	
  imprescritibilidade	
  
D)	
   princípio	
  da	
  legalidade	
  
E)	
   princípio	
  da	
  moralidade	
  

	
  
47.	
   A	
  Constituição	
  do	
  Estado	
  do	
  Ceará:	
  

I	
   –	
   Poderá	
   ser	
   emendada	
   mediante	
   proposta	
   de	
  
mais	
   da	
   metade	
   das	
   Câmaras	
   Municipais,	
  
manifestando-­‐se	
  cada	
  uma	
  delas	
  pela	
  maioria	
  
relativa	
  de	
  seus	
  membros.	
  

II	
  –	
  A	
  proposta	
  de	
  emenda	
  será	
  discutida	
  e	
  votada	
  
pela	
   Assembléia	
   Legislativa,	
   em	
   dois	
   turnos,	
  
considerando-­‐se	
   aprovada	
   se	
   obtiver,	
   em	
  
ambos,	
   três	
   quintos	
   dos	
   votos	
   dos	
  
respectivos	
  membros.	
  

III	
  –	
  Não	
  será	
  objeto	
  de	
  emenda	
  proposta	
  que	
  vise	
  
abolir	
  	
  a	
  autonomia	
  dos	
  Municípios.	
  

Estão	
  corretas:	
  
A)	
   todas	
  as	
  afirmativas	
  
B)	
   somente	
  os	
  itens	
  I	
  e	
  II	
  
C)	
   somente	
  os	
  itens	
  I	
  e	
  III	
  
D)	
   somente	
  os	
  itens	
  II	
  e	
  III	
  
E)	
   nenhum	
  dos	
  itens	
  

	
  
48.	
   Analise	
  as	
  afirmações:	
  

I	
  –	
   	
  O	
  processo	
   legislativo	
  envolve	
  a	
  elaboração	
  de	
  
várias	
  espécies	
  normativas,	
  entre	
  as	
  quais	
  se	
  
incluem	
   as	
   leis	
   delegadas,	
   as	
   medidas	
  
provisórias,	
  os	
  decretos	
  e	
  os	
  regulamentos.	
  

II	
   –	
   Ao	
   controle	
   externo,	
   a	
   cargo	
   da	
   Câmara	
  
Municipal	
  de	
  Acaraú,	
  	
  com	
  auxílio	
  do	
  Tribunal	
  
de	
   Contas	
   dos	
  Municípios,	
   compete	
   apreciar	
  
as	
   contas	
   prestadas	
   pelos	
   Prefeitos	
  
Municipais,	
   mediante	
   parecer	
   prévio,	
   que	
  
deverá	
   ser	
   elaborado	
   no	
   prazo	
   de	
   doze	
  
meses,	
  a	
  contar	
  do	
  seu	
  recebimento.	
  

III	
   –	
  Qualquer	
   cidadão,	
   partido	
   político,	
   associação	
  
ou	
   sindicato	
   é	
   parte	
   legítima	
  para,	
   na	
   forma	
  
da	
   lei,	
   denunciar	
   irregularidades	
   ou	
  
ilegalidades	
  perante	
  o	
  Tribunal	
  de	
  Contas	
  dos	
  
Municípios.	
  

Sendo	
  V	
   (verdadeiro)	
   e	
   F	
   (falso),	
   é	
   correto	
   afirmar	
  
que	
   as	
   respostas	
   das	
   assertivas	
   acima	
   estão	
   na	
  
seguinte	
  ordem:	
  
A)	
   F,	
  V,	
  V	
  
B)	
   F,	
  F,	
  V	
  
C)	
   F,	
  V,	
  F	
  
D)	
   V,	
  V,	
  V	
  
E)	
   V,	
  F,	
  V	
  

	
  
49.	
   Identifique	
   o	
   item	
   que	
   representa	
   um	
   exemplo	
   de	
  

poder	
  de	
  polícia	
  da	
  Administração	
  Pública.	
  
A)	
   Prisão	
   preventiva	
   de	
   servidor	
   público	
   em	
  

flagrante	
  delito.	
  
B)	
   Inspeção	
   em	
   escritório,	
   em	
   busca	
   de	
  

documentos,	
  para	
  investigação	
  criminal.	
  
C)	
   Decretar	
   restrição	
   de	
   liberdade	
   a	
   qualquer	
  

cidadão.	
  
D)	
   Apreensão	
   de	
   mercadorias	
   vencidas	
   ou	
  

estragadas	
   em	
   estabelecimento	
  
supermercadista.	
  

E)	
   Busca	
  e	
  apreensão	
  de	
  armas	
  de	
  uso	
   controlado	
  
das	
  forças	
  armadas.	
  

	
  

50.	
   O	
   município	
   de	
   Acaraú,	
   no	
   intuito	
   de	
   melhorar	
   o	
  
serviço	
   de	
   transporte	
   escolar,	
   edita	
   lei	
   específica,	
  
por	
  meio	
   da	
   qual	
   cria	
   empresa	
   pública	
   que	
   fará	
   o	
  
referido	
   serviço,	
   antes	
   feito	
   por	
   órgão	
   ligado	
   à	
  
Secretaria	
   Municipal	
   de	
   Transportes.	
   Nesse	
   caso,	
  
houve:	
  
A)	
   Concentração	
  de	
  um	
  serviço	
  individual	
  
B)	
   Desconcentração	
  de	
  um	
  serviço	
  geral	
  
C)	
   Descentralização	
  de	
  um	
  serviço	
  geral	
  
D)	
   Desconcentração	
  de	
  um	
  serviço	
  individual	
  
E)	
   Descentralização	
  de	
  um	
  serviço	
  individual	
  

	
  

51.	
  	
   O	
  procedimento	
  administrativo	
  pelo	
  qual	
  o	
  Estado,	
  
compulsoriamente,	
  retira	
  de	
  alguém	
  certo	
  bem,	
  por	
  
necessidade	
   ou	
   utilidade	
   pública	
   ou	
   por	
   interesse	
  
social,	
   e	
  o	
  adquire	
  originariamente	
  para	
   si	
   ou	
  para	
  
outrem,	
  é	
  denominado	
  de:	
  
A)	
   Tombamento	
  
B)	
   Desapropriação	
  
C)	
   Doação	
  
D)	
   Encampação	
  
E)	
   Afetação	
  

	
  
52.	
   De	
  acordo	
  com	
  o	
  Art.	
  156	
  da	
  Constituição	
  Federal,	
  

compete	
  aos	
  municípios	
  instituir	
  impostos	
  sobre:	
  
A)	
   Importação	
  de	
  produtos	
  estrangeiros.	
  
B)	
   Produtos	
  industrializados.	
  
C)	
   Grandes	
  fortunas.	
  
D)	
   Propriedade	
  de	
  veículos	
  automotores.	
  	
  
E)	
   Propriedade	
  predial	
  e	
  territorial	
  urbana.	
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53.	
   De	
   acordo	
   com	
   o	
   Art.	
   5	
   da	
   Constituição	
   Federal,	
  

qual	
  pena	
  é	
  admitida	
  no	
  Brasil?	
  
A)	
   de	
  banimento	
  
B)	
   de	
  perda	
  de	
  bens	
  
C)	
   cruéis	
  
D)	
   de	
  caráter	
  perpétuo	
  
E)	
   de	
  trabalhos	
  forçados	
  

	
  
54.	
   A	
   irredutibilidade	
   do	
   salário	
   é	
   garantida	
   ao	
  

trabalhador	
   rural	
   e	
   urbano,	
   salvo	
   o	
   disposto:	
   (art.	
  
7º,	
  VI):	
  
A)	
   em	
  convenção	
  coletiva,	
  apenas	
  
B)	
   em	
  convenção	
  ou	
  acordo	
  coletivo	
  
C)	
   em	
  lei	
  delegada	
  
D)	
   em	
  lei	
  complementar	
  
E)	
   em	
  lei	
  

	
  

55.	
   A	
   Constituição	
   vigente	
   impede	
   que	
   legislador	
  
ordinário	
  estabeleça	
  distinção	
  entre	
  brasileiro	
  nato	
  
e	
  naturalizado.	
  Assim	
  sendo,	
  ambos	
  podem	
  exercer	
  
os	
  cargos	
  de:	
  
A)	
   prefeito,	
   oficial	
   das	
   forças	
   armadas	
   e	
   deputado	
  

federal	
  
B)	
   presidente	
  da	
  Câmara	
  dos	
  Deputados,	
  senador	
  e	
  

procurador-­‐geral	
  da	
  república	
  
C)	
   prefeito,	
  governador	
  de	
  estado	
  e	
  senador	
  
D)	
   ministro	
   do	
   Supremo	
   Tribunal,	
   do	
   Superior	
  

Tribunal	
   de	
   Justiça	
   e	
   de	
   Tribunal	
   Superior	
   do	
  
Trabalho	
  

E)	
   senador,	
   deputado	
   federal	
   e	
   vice-­‐presidente	
   da	
  
república	
  

	
  

56.	
   Lei	
   tributária	
   do	
  Município	
   de	
   Sobral	
   institui	
   o	
   ISS,	
  
sendo	
   que	
   os	
   brasileiros	
   natos,	
   somente	
   esses,	
  
estão	
  isentos	
  de	
  tal	
  tributo.	
  Isso	
  é	
  possível?	
  
A)	
   sim,	
   pois	
   o	
   município	
   tem	
   autonomia	
   para	
  

instituir	
  o	
  ISS.	
  
B)	
   não,	
  a	
  lei	
  deveria	
  ser	
  estadual.	
  
C)	
   não,	
   a	
   lei	
   não	
   pode	
   estabelecer	
   distinção	
   entre	
  

brasileiro	
  nato	
  e	
  naturalizado.	
  
D)	
   sim,	
   pois	
   compete	
   ao	
   ente	
   federado,	
   em	
   lei	
  

tributária,	
   estabelecer	
   isenção	
   para	
   qualquer	
  
imposto	
   por	
   distinção	
   determinada	
   (no	
   caso	
  
entre	
   ser	
   brasileiro	
   nato	
   ou	
   ser	
   brasileiro	
  
naturalizado).	
  

E)	
   nenhuma	
  das	
  respostas	
  anteriores.	
  
	
  

57.	
   Marque	
  a	
  alternativa	
  correta:	
  
A)	
   a	
  garantia	
  de	
   irretroatividade	
  da	
   lei,	
  prevista	
  no	
  

texto	
   da	
   Constituição,	
   não	
   é	
   invocável	
   pela	
  
entidade	
  estatal	
  que	
  a	
  tenha	
  editado.	
  

B)	
   comissão	
   parlamentar	
   de	
   inquérito	
   (CPI)	
   não	
  
pode	
   decretar	
   o	
   sigilo	
   fiscal,	
   bancário	
   e	
  
telefônico	
  do	
  investigado.	
  

C)	
   a	
   Constituição	
   Fedeal	
   enumera	
   exaustivamente	
  
os	
   direitos	
   e	
   garantias	
   individuais,	
   sendo	
  
inconstitucional	
   o	
   tratado	
   que	
   institua	
   outros,	
  
não	
  previstos	
  pelo	
  constituinte.	
  

D)	
   pessoas	
   jurídicas	
   de	
   direito	
   público	
   não	
   podem	
  
ser	
  titulares	
  de	
  direitos	
  fundamentais.	
  

E)	
   exige-­‐se	
  o	
  trânsito	
  em	
  julgado	
  da	
  decisão	
  judicial	
  
para	
  que	
  as	
  associações	
  tenham	
  suas	
  atividades	
  
suspensas.	
  

	
  

58.	
   Analise	
  as	
  assertivas:	
  
I	
  –	
  Somente	
  o	
  STF	
   (Supremo	
  Tribunal	
  Federal)	
  está	
  

juridicamente	
   autorizado	
   a	
   interpretar	
   a	
  
Constituição.	
  

II	
   –	
   Todos	
   podem	
   reunir-­‐se	
   pacificamente,	
   sem	
  
armas,	
   em	
   locais	
   abertos	
   ao	
   público,	
  
entretanto,	
   exige-­‐se	
   prévio	
   aviso	
   à	
  
autoridade	
  competente.	
  	
  

III	
   –	
   O	
   direito	
   fundamental	
   à	
   vida,	
   por	
   ser	
   mais	
  
importante	
   que	
   os	
   outros	
   direitos	
  
fundamentais,	
   tem	
   caráter	
   absoluto,	
   não	
   se	
  
admitindo	
  qualquer	
  restrição.	
  

Estão	
  erradas:	
  
A)	
   todas	
  as	
  afirmativas	
  
B)	
   somente	
  os	
  itens	
  I	
  e	
  II	
  
C)	
   somente	
  os	
  itens	
  I	
  e	
  III	
  
D)	
   somente	
  os	
  itens	
  II	
  e	
  III	
  
E)	
   nenhum	
  dos	
  itens	
  

	
  
59.	
   Marque	
  a	
  alternativa	
  falsa:	
  

A)	
   Nem	
   o	
   Governo	
   Federal,	
   nem	
   os	
   governos	
   dos	
  
Estados,	
  nem	
  os	
  dos	
  Municípios	
  ou	
  o	
  do	
  Distrito	
  
Federal	
   são	
   soberanos,	
   porque	
   todos	
   são	
  
limitados,	
   expressa	
   ou	
   implicitamente,	
   pelas	
  
normas	
  positivas	
  da	
  Constituição	
  Federal.	
  

B)	
   A	
   organização	
   política	
   administrativa	
   da	
   União	
  
compreende	
  os	
   Estados,	
   o	
  Distrito	
   Federal	
   e	
   os	
  
Municípios,	
   todos	
   autônomos	
   na	
   forma	
   do	
  
disposto	
  na	
  própria	
  Constituição	
  Federal.	
  

C)	
   A	
   criação,	
   a	
   incorporação,	
   a	
   fusão	
   e	
   o	
  
desmembramento	
   de	
   Municípios,	
   far-­‐se-­‐ão	
   por	
  
lei	
  estadual,	
  dentro	
  do	
  período	
  determinado	
  por	
  
Lei	
   Complementar	
   Federal,	
   e	
   dependerão	
   de	
  
consulta	
   prévia,	
   mediante	
   plebiscito,	
   às	
  
populações	
   dos	
   Municípios	
   envolvidos,	
   após	
  
divulgação	
  dos	
  Estudos	
  de	
  Viabilidade	
  Municipal,	
  
apresentados	
  e	
  publicados	
  na	
  forma	
  da	
  lei.	
  

D)	
   Os	
   Estados	
   podem	
   instituir	
   regiões	
  
metropolitanas,	
   aglomerações	
   urbanas	
   e	
  
microrregiões,	
   constituídas	
   por	
   agrupamentos	
  
de	
   Municípios	
   limítrofes,	
   para	
   integrar	
   a	
  
organização,	
   o	
   planejamento	
   e	
   a	
   execução	
   de	
  
funções	
  públicas	
  de	
  interesse	
  comum.	
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E)	
   É	
  vedado	
  aos	
  Estados	
  manter	
  relação	
  de	
  aliança	
  
com	
   representantes	
   de	
   cultos	
   religiosos	
   ou	
  
igrejas,	
  resguardando-­‐se	
  o	
  interesse	
  público.	
  

	
  
	
  60.	
  Analise	
  as	
  assertivas:	
  

I	
  –	
  	
   Os	
   Estados	
   podem	
   incorporar-­‐se	
   entre	
   si,	
  
subdividir	
   se	
   ou	
   desmembrar-­‐se	
   para	
   se	
  
anexarem	
   a	
   outros,	
   ou	
   formarem	
   novos	
  
Estados	
   ou	
   Territórios	
   Federais,	
   mediante	
  
aprovação	
   da	
   população	
   diretamente	
  
interessada,	
   por	
   meio	
   de	
   plebiscito,	
   e	
   do	
  
Congresso	
  Nacional,	
  por	
  lei	
  complementar.	
  	
  

II	
  –	
  	
   Para	
   a	
   criação	
   de	
   novos	
   Municípios,	
   é	
  
necessária	
   prévia	
   consulta	
   por	
   plebiscito	
  
convocado	
  pela	
  Câmara	
  de	
  Vereadores.	
  

III	
  –	
  	
  Incluem-­‐se,	
   entre	
   os	
   bens	
   dos	
   Estados,	
   as	
  
terras	
  devolutas	
  não	
  compreendidas	
  entre	
  as	
  
da	
  União.	
  

IV–	
   Pertencem	
   aos	
   Estados	
   as	
   ilhas	
   fluviais	
  
localizadas	
   em	
   seu	
   território,	
   que	
   não	
   se	
  
situem	
  na	
  zona	
  limítrofe.	
  

Sendo	
  V	
   (verdadeiro)	
   e	
   F	
   (falso),	
   é	
   correto	
   afirmar	
  
que	
   as	
   respostas	
   das	
   assertivas	
   acima	
   estão	
   na	
  
seguinte	
  ordem:	
  
A)	
   V,	
  F,	
  V,	
  V	
  
B)	
   F,	
  F,	
  V,	
  V	
  
C)	
   F,	
  V,	
  F,	
  F	
  
D)	
   V,	
  V,	
  V,	
  V	
  
E)	
   V,	
  F,	
  V,	
  F	
  

	
  
	
  


